202230 fRE AR

ey

7 300 4 600 v 900

)

(fig7%)
rk v EFEREy=ax+bL T35 L,
=B ,
80ag + b =1200
1420a 4 b = 2400
IHERE L,
a=5 , =300

=,
y=25x + 300
Tk
x=3000k &, »=1800
(3) 150 718
1 | X 7 Y 7 z 7
(GEHA)
MNADFEABCFIZEWT,
LF3HE®E - O

)

HEAAEEZEL WD T,
LADF=/BCF - @

$7-, AC=BD:UBC=ADT, HARIZELWOT,
/BDC=Z ACD

“h&V, AFCDR=S0=AFLL50T,
DF=CF - &

LT, O~B&Y,

1 OTEZOBEROENZTRETREL VOT,
MADF=ABCF

(3)

AAEC: AFCD = 3 28

&) —9 @) 6a + 414
3) 2/3 @) B— _%a +9
(5) r = 3 , X = 8
®)
1
® | ZBPA=  18°
)
® <
9) -
@ 1z
@R 2100 W | Fosmse 3500
1)
FlEBHE 8100 M
2 30x + v= 1300
@)
72x — v= —280
(3) x = 10 y = 1000
o |7 5 4 2
8 A ax+4 B av+6
@ |c b6ax+ da v+ 24 D 24
E 8,12, 24

(1

4 N

(2)

2@k 20 cem® ZHTV0-ABC 40 cm?

(3)

15 K




